3 Complete the second sentence so it has a similar meaning to the first. Use three to six
words in your answer, including the word in brackets, as in the example.
0 All the other members of the family are younger than Uncle Jacob. (the)
Uncle Jacob is the oldest member of the family.

1 Ilive closer to the bus stop than Ivan does. (away)

IVAN TIVES | than me.
2 These apples aren’t as tasty as the ones Lizzie bought. (than)

The apples Lizzie DOUZN ... et

3 The massacre was among the most despicable episodes in the regiment’s history. (one)

The massacre was in the regiment’s history.

4 The ending of the film wasn’t as sentimental as I'd expected. (than)

I'd expected the ending of the film tobe ... it was.
5 Mikhail’s essay wasn't as bad as the others. (the)
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6 All the other flights were more expensive than the Easyjet one. (of)

The Easyjet flight

7 That was easily the most ridiculous story I've ever heard. (by)

the flights.

TRAt WAS e I've ever heard.
8 Of the two sisters, Sophie and Caroline, Sophie is the elder. (than)
SOPRIE B ..o sister Caroline.

4 Study the charts; then complete the description, using the prompts in
brackets. If you see <, use a suitable modifying word or phrase, e.g. considerably, among
etc. as in the example.
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From World Prison Population List (seventh edition), Kings College London International Centre for Prison Studies

0 The USA has by far. the highest number df prisoners.. (< / high / number / prisoners)

1 The USA has

(< / large / numbers of prisoners / any other country)

2 TEQISOIAS . cisiscom srvssinnss issnsnn smammninsinnnsnssonasensiis S5ass s amamons phions sus sasss smse b nensssmmeshsssss sisannnn
of the national population. (high / number / prisoners / as a proportion)

B om0 S o ona R s v American Samoa has (countries / the chart)
......................................................... per 100,000 population. (low / number of prisoners)

4 China has

(< / great / number of prisoners / Russia).
5 St Kitts and Nevis and the US Virgin Islands are small states, but they have

(< / high / proportion of prisoners per population / apart from the USA and Russia).
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